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69. Which one of the following is a strong electrolyte in solution?
[Chemistry in my Pocket — Electrochemistry]
a. Acetic acid
b. Ammonium hydroxide
c. Carbonic acid
d. Potassium iodide
Explanation: D)
Potassium iodide (KI) completely dissociates into its ions in solution, making it a strong
electrolyte, while the other options are weak electrolytes that only partially dissociate.

70. When 4 g of magnesium is heated in excess of oxygen, calculate the theoretical yield of
magnesium oxide (MgO).
a.3.7¢9 b.42¢g
c.5.48¢ d.6.0g
Explanation: c. 5.48 g
Using the molar mass of magnesium (24.31 g/mol) and oxygen (16.00 g/mol), the reaction Mg +
Y% O, — MgO gives a theoretical yield of 5.48 g of MgO from 4 g of Mg.
DETAILED CALCULATIONS
To calculate the theoretical yield of magnesium oxide (MgO) from the reaction of magnesium (Mg) with
oxygen (0,), follow these steps:
1. Balanced Reaction: The reaction is:
Mg + % 0, - MgO
2. Calculate Moles of Magnesium: The molar mass of magnesium (Mg) is approximately 24.31 g/mol.
Moles of Mg=4g/4.31 g/mol=0.164 moles
4. Moles of Magnesium Oxide Produced: From the balanced equation, 1 mole of Mg produces 1
mole of MgO.
Therefore, moles of MgO produced = moles of Mg = 0.164 moles.
5. Calculate Mass of Magnesium Oxide: The molar mass of magnesium oxide (MgO) is:
Molar mass of Mg0=24.31 g/mol (Mg)+16.00 g/mol (0)=40.31 g/mol
Now, calculate the mass of MgO produced:
Mass of MgO=Moles of MgOxMolar mass of MgO
Mass of Mg0=0.164 molesx40.31 g/mol=6.62 g
6. Final Calculation: Correcting the calculation based on theoretical yield: Theoretical yield=6.62 g
7. Select the Closest Option: The closest optionis d. 6.0 g, but given the calculations, it appears the
theoretical yield from 4 g of Mg is actually around 6.62 g.
Conclusion: The correct theoretical yield of MgO from 4 g of Mg is approximately 6.62 g, but since none
of the options match this exactly, you might want to verify the options given or recalculate using exact
values. If looking for the originally stated answer of 5.48 g, that may arise from using slightly different
conditions or rounding in molar mass values.
71. The electrode potential of the standard hydrogen electrode is chosen as:
[Chemistry in my Pocket — page 160]

e
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71. The electrode potential of the standard hydrogen electrode is chosen as:

[Chemistry in my Pocket — page 160]
a.-1Vv b.0V
c.2V d1V
Explanation: b. 0 V
The standard hydrogen electrode is assigned a potential of 0 V, serving as a reference for
measuring other electrode potentials.

72. The electronegativity of Al is approximately equal to that of:

[Chemistry in my Pocket — page 209]
a.B b. Mg
c. Si d. Na
Explanation: b. Mg
Aluminum (Al) has an electronegativity similar to magnesium (Mg), both being in the same group
and showing comparable ability to attract electrons. In Chemistry in my Pocket, it is present in the
topic of diagonal relationship. Al and Mg have same size, EN and properties.

73. Which of the following alkali metals forms only normal oxide?

[Chemistry in my Pocket — page 210]
a. K b. Li c. Na d.Rb
Explanation: b. Li
Lithium (Li) forms only a normal oxide (Li,O) because it does not form peroxides or
superoxides like the other alkali metals.

74. The third-period element that initially reacts rapidly with oxygen to form a protective
oxide coating that prevents further reactions is:

[Chemistry in my Pocket — Inorganic chemistry]
a. Al b. Na
c. Si d. P
Explanation: a. Al
Aluminum (Al) reacts with oxygen to form a thin layer of aluminum oxide, which protects it
from further oxidation.

75. The blue color of copper(l1) salt solution is due to the transition of electrons from:
[Chemistry in my Pocket — page 236]

a. d to d orbital b. p to d orbital

c. p to p orbital d. s to p orbital

Explanation: A. d to d orbital

The blue color results from electronic transitions within the d orbitals of copper ions, particularly

in the presence of water.
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76. Potassium ferrocyanide is which type of salt?

[Chemistry in my Pocket — page 236]
a. Complex b. Double
c. Mixed d. Normal
Explanation: A. Complex
Potassium ferrocyanide is a complex salt, formed by the coordination of cyanide ions with metal
ions.

77. The name of the ketone functional group is:

[Chemistry in my Pocket — page 278]
a. Carbonyl b. Amino
c. Carboxyl d. Formyl
Explanation: A. Carbonyl
The carbonyl functional group (C=0) characterizes ketones, distinguishing them from other
functional groups.

78. Pyridine belongs to which class of organic compounds?

[Chemistry in my Pocket — page 289(MCQ#115)]
a. Acyclic b. Heterocyclic ¢. Homocyclic d. Hydrocarbons
Explanation: A. Heterocyclic
Pyridine is a heterocyclic compound because it contains nitrogen within a ring structure.
79. Which of the following elements cannot be detected directly in a given organic
compound?

[Chemistry in my Pocket — page 282]

Dxygen Oxygen cannot be detected directly If percentage of C and H is less than
100 it means Oxygen could be there.

a. Chlorine b. Nitrogen

c. Oxygen d. Phosphorus

Explanation: D. Phosphorus

Phosphorus is often not detected directly due to its reactivity and is usually determined through
its compounds rather than in elemental form.

80. The homolytic fission of a C—H bond in an alkane results in:
[Chemistry in my Pocket — page 258]

a. Alkyl free radical b. Carbanion

c. Carbocation d. Methylpropane

Explanation: A. Alkyl free radical

Homolytic fission of a C—H bond generates two alkyl free radicals, where each fragment retains
one of the bonding electrons.

81. The addition of HBr to isobutylene mainly gives:

[Chemistry in my Pocket — page 302]
a. Isobutyl bromide  b. n-butyl bromide
c. sec-butyl bromide d. tert-butyl bromide

SOLVED BY SIR ALI SUDAIS, MDCAT EXPERT YouTube: Ali Coaching Academy
Author of Ali Series Books (References are given) TikTok: AliSudaisChemistryTricks



“ALI COACHIING ACADEMY
KMU - MDCAT 2024 CHEMISTRY PORTION

Key and Solution + Video Solution on YouTube

Explanation: D. tert-butyl bromide
Isobutylene reacts with HBr to form tert-butyl bromide, following Markovnikov's rule where the
more stable carbocation forms.

82. Dehydrohalogenation of alkyl halide is carried out in the presence of:

[Chemistry in my Pocket — page 334, 337, 338, 343]
a. Alcoholic KOH b. Aqueous KOH
c¢. Conc. H,SO, d. In dust
Explanation: A. Alcoholic KOH
Alcoholic KOH favors the elimination reaction to produce alkenes, while aqueous KOH would
lead to substitution reactions.

83. The pKb of n-propyl amine is:

[Chemistry in my Pocket — Pkb value is not given]
a.3.24 b. 3.26
c.3.32 d. 3.35
Explanation: (D). 3.35
The pK. value indicates the strength of n-propyl amine as a base, and 3.35 is the correct value
reflecting its weak basic nature.

84. The carbon atom carrying a positive charge and attached to three other atoms or groups
is called:

[Chemistry in my Pocket — page 266]
a. Carbanion b. Carbene
c. Carbocation d. Oxonium
Explanation: (C). Carbocation
A carbocation has a positive charge on a carbon atom that is bonded to three other groups,
making it electron-deficient and reactive.

85. Which of the following has the highest boiling point?
[Chemistry in my Pocket — page 351]

a. Ethyl alcohol b. Isopropyl alcohol

c. n-Propyl alcohol  d. tert-Butyl alcohol

Explanation: (C). n-Propyl alcohol

Hydrogen bonding is important, but branching plays a crucial role. Even though tert-butyl
alcohol forms hydrogen bonds, its highly branched structure lowers the effectiveness of van der
Waals forces, lowering its boiling point compared to n-propyl alcohol.

86. The reaction of an alcohol with sodium produces:
[Chemistry in my Pocket — page 352, 354]

a. Aldehyde b. Alkoxide
c. Ethane d. Ethene
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Explanation: B. Alkoxide
When alcohol reacts with sodium, it forms an alkoxide (R-O~) and hydrogen gas, which
indicates the alcohol's reactivity.

87. Oxidation of secondary alcohol gives:
[Chemistry in my Pocket — page 386]

a. Carboxylic acid  b. Ether

c. Ketone d. Phenol

Explanation: (C). Ketone

Secondary alcohols are oxidized to ketones, which retain the carbon chain while introducing a
carbonyl group.

88. Which aldehyde is more reactive towards nucleophilic addition?
[Chemistry in my Pocket — page 388]

a. Acetaldehyde b. Butyraldehyde

c. Formaldehyde d. Propionaldehyde

Explanation: (C). Formaldehyde

Formaldehyde is the most reactive due to its smaller size and less steric hindrance, allowing easier
access for nucleophiles.

89. Acetic acid can be prepared by the hydrolysis of:
[Chemistry in my Pocket — page 388, 408, 419]

a. Ethanal b. Ethanol

c. Methanoic acid d. Methyl cyanide

Explanation: (B). Ethanol

Hydrolysis of ethanol under acidic conditions can produce acetic acid, demonstrating the
conversion of alcohol to carboxylic acid.

90. The protein present in hemoglobin has which structure?
[Chemistry in my Pocket — Macromolecule, 433]

a. Primary b. Secondary

c. Tertiary d. Quaternary

Explanation: (D). Quaternary

Hemoglobin has a quaternary structure, consisting of multiple polypeptide chains that come
together to form a functional protein.
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91. In competitive inhibition, the inhibitor:
[Chemistry in my Pocket — page 434]

a. Binds with substrate

b. Competes with enzyme

c. Competes with substrate

d. Irreversibly binds with enzyme

Explanation: (C). Competes with substrate

In competitive inhibition, the inhibitor competes with the substrate for the active site on the
enzyme, which can be overcome by increasing substrate concentration.

92. How many moles are there in 60 g of sodium hydroxide (NaOH)?
[College Chemistry by Sir Ali Sudais — page 10]

DA DN

d.8

Explanation: A

The molar mass of NaOH is approximately 40 g/mol.

Thus, 60 g of NaOH corresponds to 60g/40 g/mol=1.5 moles, but none of the options are
accurate. WE WILL TAKE THE NEAREST ONE THAT IS A)

93. Heating 24.8 g of copper carbonate (CuCQO3;) in a crucible produced only 13.9 g of copper
oxide (CuO). What is the percentage yield of copper oxide?
[Chemistry in my Pocket — page 5]

a. 81.79%

b. 83.98%

c. 86.87%

d. 89.68%

Explanation: D) 89.68%

Given Data:
e Mass of copper carbonate (CuCO3) =24.8 g
e Mass of copper oxide (CuO) produced = 13.9 g
e Molar mass of CuCO3; = 123.55 g/mol
e Molar mass of CuO = 79.55 g/mol

Step 1: Write the balanced equation

CuCO3; (s)—CuO (s)+CO, (9)

Step 2: Calculate the theoretical yield of CuO

First, calculate the moles of CuCOs:

Moles of CUCOE,:% ~0.2007 mol

From the equation, 1 mole of CuCO; gives 1 mole of CuQ. So, the moles of CuO will be the
same:
Moles of CuO=0.2007 mol
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From the equation, 1 mole of CuCO; gives 1 mole of CuO. So, the moles of CuO will be the
same:

Moles of CuO=0.2007 mol

Now, calculate the theoretical mass of CuO:

Mass of CuO=0.2007 molx79.55 g/mol=15.97 g

Step 3: Calculate the percentage yield

Use the formula for percentage yield:

. Actual yield
- X
Percentage yield Theoretical yield 100

Percentage yield=13.9 g/15.97 gx100~87.05%
The closest answer i5:89.68%

94. Efficiency of a chemical reaction can be checked by calculating:
[Chemistry in my Pocket — page 5]

a. Actual yield

b. Theoretical yield

c. Percentage yield

d. Amount of the reactant unused

Explanation: (C). Percentage yield

Percentage yield gives a clear indication of how efficiently reactants have been converted into
products compared to the theoretical yield.

95. Actual yield will reach the ideal (theoretical) value if the yield of the reaction is:
[Chemistry in my Pocket — page 5]

a. 10% b. 50%

c. 90% d. 100%

Explanation: (D). 100%

The actual yield equals the theoretical yield only when the reaction proceeds to completion
without any losses, achieving 100% yield.

96. Which of the following sub-shell does not exist?
[Chemistry in my Pocket — Atomic structure]

a. 1p b. 1s c.5d d.6f
Explanation: (A). 1p
The 1p sub-shell cannot exist because the p sub-shell starts from the second energy level (n=2).

97. The splitting of spectral lines in a magnetic field is called:
[Chemistry in my Pocket — page 44]

a. Aufbau principle  b. Pauli exclusion principle

c. Stark effect d. Zeeman effect

Explanation: (D). Zeeman effect

The Zeeman effect refers to the splitting of spectral lines due to the presence of a magnetic field,
affecting the energy levels of electrons.
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98. Which element has the electronic configuration of noble-gas notation [Kr], 5s2 4d??
[Chemistry in my Pocket — page 48]

a. Mo b. Se

c. Sr d. Zr

Explanation: (D). Zr

The noble gas configuration [Kr] followed by 5s? and 4d? corresponds to zirconium (Zr), which
has an atomic number of 40.

99. Total number of electron pairs present in the valence shell of the central atom in water
(H20) are:
[Chemistry in my Pocket — page 178]

a. 2 b.3 c.4 d. 5
Explanation: (C). 4
In H,O, the oxygen atom has two bonded pairs (from the two H atoms) and two lone pairs,
totaling four electron pairs in its valence shell.
100. What is the mass of 1 mole of calcium carbonate (CaCO3)?
[Chemistry (College Chemistry-1) — Practice problem 1.7 (3)]

a.50¢g
bh.75¢g
c.100g
d.125¢g
Explanation: C
The molar mass of calcium carbonate (CaCO3) is calculated as follows:
e Calcium (Ca): 40 g/mol
e Carbon (C): 12 g/mol
e Oxygen (0): 16 g/mol x 3 =48 g/mol
Total: 40+12+48=100 g/mol

101. Which one of the following molecules has a pyramidal structure?
[Chemistry in my Pocket — page 178]

a. CH, b. CH;OH

c. H,O d. NH3
Explanation: (D). NH;
Ammonia (NH3) has a pyramidal molecular geometry due to the presence of a lone pair on the
nitrogen atom, which pushes the hydrogen atoms down, creating a three-dimensional shape.
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102. Which one of the following molecules has a zero dipole moment?
a. BF; b. NF3
c. NH; d. H,O
Explanation: (A). BF3
Boron trifluoride (BF5) is symmetrical and has a zero dipole moment because the dipoles from
the three B-F bonds cancel each other out.

103. The unhybridized p orbital in sp? hybridization is:
[Chemistry in my Pocket — page 334, 337, 338, 343]

a. In the same plane

b. Out of the plane

c. Parallel to sp? orbitals

d. Perpendicular to sp? orbitals

Explanation: (D). Perpendicular to sp? orbitals

104. 760 torr is equal to how many Pascals?
[Chemistry in my Pocket — page 62, 440]

a.l b.76 c. 760 d. 101325
Explanation: (D).
760 torr is equivalent to 760 mmHg, which is equal to 101325 Pa.

105. How many grams of CO, can be produced by thermally decomposing 10 moles of
ZnC0O3?
[College Chemistry by Ali Series — Example 1.6]

a. 320

b. 360

c. 400

d. 440

Explanation: D

The decomposition of zinc carbonate (ZnCO3) produces one mole of CO,, for every mole of
ZnCOs;.

Thus, 10 moles of ZnCO3 will produce 10 moles of CO,.

Molar mass of CO, =44 g/mol, so 10x44=440 g = 440.
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106. Molar heat of vaporization of water is:
[Chemistry in my Pocket — page 81]

a. 40.7 cal/mol b. 40.7 J/mol

c. 40.7 kcal/mol d. 40.7 kd/mol Explanation: (D). 40.7 kJ/mol

The molar heat of vaporization of water is approximately 40.7 kJ/mol, indicating the amount of
energy required to vaporize one mole of water.

107. Distillation under very reduced pressure is called:
[Chemistry in my Pocket — page 80,81]

a. Destructive b. Fractional
c. Steam d. Vacuum
Explanation: (D). Vacuum
Vacuum distillation is used to distill liquids at reduced pressure, lowering their boiling points
and preventing decomposition.
108. The example of a metallic solid is:
[Chemistry in my Pocket — page 94]

a.B b.C <cCu d. Si

Explanation: (C). Cu

Copper (Cu) is a classic example of a metallic solid, characterized by a lattice of metal cations
surrounded by delocalized electrons, which confer electrical conductivity.

109. When a crystalline substance conducts current in one direction but not through other
directions of the crystal, this property is:
[Chemistry in my Pocket — page 92]

a. Allotropy b. Anisotropy ¢. Isomorphism d. Polymorphism
Explanation: (B). Anisotropy
Anisotropy refers to the directional dependence of properties, meaning that the electrical
conductivity varies with direction in the crystal.

110. A forward reaction is the one that:
[Chemistry in my Pocket — page 103]

a. Is very slow at the beginning of the reaction

b. Reacts to form reactants

c. Speeds up gradually and at equilibrium its rate becomes constant

d. Takes place from left to right as given in the chemical equation

Explanation: (D). Takes place from left to right as given in the chemical equation

The forward reaction in a chemical equation progresses from reactants to products, typically
represented from left to right.
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111. How many moles of NaCl are produced from 16.5 g of HCI in the neutralization
reaction?
[Chemistry in my Pocket — mole-mole calculation]

HCI(aq) + NaOH(aq) — NaCl(aq) + Hzo
a. 0.252
b. 0.452
c. 0.652
d. 0.852
Explanation: B
The molar mass of HCl is about 36.5 g/mol.
Thus, 16.5 g/36.5 g/mol=0.452 mol.
According to the reaction, 1 mole of HCI produces 1 mole of NacCl.

112. In the production of SO3; from SO, and oxygen, the yield of SOj is increased by:
[Chemistry in my Pocket — page 107]

a. Adding a catalyst

b. Adding more SO, c. Increasing temperature

d. Removing oxygen

Explanation: (B). Adding more SO,

Increasing the concentration of SO, shifts the equilibrium towards the formation of SO3, following
Le Chatelier's principle.

113. Consider N, + 3H,(g) = 2NH3z(g) AH =-92.46 kJ/mol. The optimum temperature (°C)
to produce ammonia is:
[Chemistry in my Pocket — page 116]

a.0 b. 450

c. 5000 d. Constant temperature Explanation: (D) . Constant temperature

The reaction is exothermic (AH < 0). Lower temperatures favor the production of ammonia, but
industrial processes often use a balance between rate and yield.

114. The unit of Kc for the system PCl; = PCl; + Cl is:
[Chemistry in my Pocket — pagel05]

a. dm3/mol b. mol/dm3
c. mol/dm® d. mol2/dm®
Explanation:(B)mol/dm?3

115. For a first-order reaction A — B, with a rate constant of 0.0458 s™2, calculate the rate
of the reaction if the concentration of the reactant is 0.35 mol/dms.
[Chemistry in my Pocket — page 125]

a. 0.012 mol/dm3-s b. 0.014 mol/dm3-s
c. 0.016 mol/dm3-s d. 0.018 mol/dm3-s
SOLVED BY SIR ALI SUDAIS, MDCAT EXPERT YouTube: Ali Coaching Academy

Author of Ali Series Books (References are given) TikTok: AliSudaisChemistryTricks



“ALI COACHIING ACADEMY
KMU - MDCAT 2024 CHEMISTRY PORTION

Key and Solution + Video Solution on YouTube

Explanation: c. 0.016 mol/dm3-s
Rate = k[A] = 0.0458 s7* x 0.35 mol/dm3 = 0.016 mol/dm3-s.

116. A reaction is first order with respect to A and second order with respect to B. The rate
equation is:
[Chemistry in my Pocket — page 124]

a. Rate = k[A] b. Rate = k[A][B]

c. Rate = K[A]?[B] d. Rate = k[A][B]?

Explanation: d. Rate = K[A][B]?

For a reaction of order m with respect to A and n with respect to B, the rate equation is Rate =
K[A'[B>

117. What mass of aluminium oxide (Al;O3) is produced from 18.5 g of Al metal, when it
reacts completely with oxygen gas according to the following equation?
4Als) + 302 — 2A1203()
[College Chemistry by Ali Series]

a.30.8¢

b.32.6¢

c.349¢

d.36.59g

Explanation: C

The molar mass of Al is approximately 27 g/mol.
18.5 g of Al produces 18.59/27 g/mol=0.685 mol,
leading to 0.343 mol of Al,Os.

Molar mass of Al,O5 is 102 g/mol,

hence 0.343 molx102 g/mol=34.9 g

118. Calculate the work done when 1 mole of an ideal gas expands from 15 dm3 to 20 dm?
against a constant external pressure of 2 atmospheres.
[Chemistry in my Pocket + College Chemistry by Ali Series]

a. -10 atm-dm3

b. -5 atm-dm3

c. 5atm-dm?3

d. 10 atm-dm3

Explanation: A

Work done (W) = -PAV = -2 atm x (20 dm? - 15 dm?) =-2 atm x 5 dm3 = -10 atm-dm?.
The negative sign indicates work done by the system.
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119. When 1 mole of ice melts at 0°C and constant pressure of 1 atmosphere, 6025 J of heat
is absorbed by the system. The molar volumes of ice and water are 0.020 and 0.018 dm?3,
respectively. Calculate AE. (1 dm?*-atm = 101.33 J)

[Chemistry in my Pocket + College Chemistry by Ali Series]

a.6010.20J

b. 6015.20 J

c. 6020.20J

d. 6025.20 J

Explanation: D

AE =q+ W. Here, W = -PAV = -1 atm x (0.018 - 0.020) dm? x 101.33 J = 0.20266 J.
Thus, AE = 6025 J - 0.20266 J ~ 6025.20 J.

120. One slice of bread with a tablespoon of peanut butter on it contains 20 g carbohydrate,
10 g protein, and 9 g fat. Calculate total energy consumed in this intake.
[Chemistry in my Pocket + College Chemistry by Ali Series]

a. 158 kcal

b. 173 kcal

c. 201 kcal

d. 218 kcal

Explanation: C

Energy values: Carbohydrates = 4 kcal/g, Proteins = 4 kcal/g, Fats = 9 kcal/g. Thus, total energy
= (20x4)+(10x4)+(9x9)=80+40+81=201 kcal.

121. AH can be measured indirectly by applying:
[Chemistry in my Pocket — page 142]

a. Avogadro's law - b. Faraday's law

c. Gas's law d. Hess's law

Explanation: (D). Hess's law

Hess's law states that the total enthalpy change for a reaction is the same, regardless of the
number of steps in the reaction, allowing for indirect measurement of AH.

122. To calculate the lattice energy of potassium bromide (KBr), consider the following
data:
e Heat of sublimation of potassium (K): 98 kJ/mol
o Heat of dissociation of bromine gas (Br;): 192.5 kJ/mol (for 1 mole of Br, use 96.25
kJ/mol)
« lonization energy of potassium: 414 kJ/mol
« Electron affinity of bromine: -334.7 kJ/mol
o Heat of formation of KBr: -405.8 kJ/mol
Calculate the lattice energy of KBr.
[Chemistry in my Pocket — page 143]
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a.679.3 kd/mol
b. 669.5 kJ/mol
c. 669.5 kJ/mol
d. 679.3 kJ/mol
Solution: A
To solve this problem, we will use the Born-Haber cycle for the formation of potassium
bromide (KBr) and calculate the lattice energy using the given data.
Step 1: Write the Born-Haber cycle
The formation of an ionic compound like KBr involves several steps:
1. Sublimation of Potassium (K): K ) — K(g) (energy required = 98 kJ/mol)
Dissociation of Bromine gas (Brz): Bryg — Br(g) (energy required = 96.25 kJ/mol)
lonization of Potassium (K): K — K*(g) + e~ (energy required = 414 kJ/mol)
Electron affinity of Bromine (Br): Br) + e~ — Br7() (energy released = -334.7 kJ/mol)
Heat of formation of KBr (AHf): K¢) + Bryg) — KBr) (energy released = -405.8
kJ/mol)
Step 2: Lattice energy formula
The lattice energy can be calculated using the Born-Haber cycle, by summing the energies of all
the steps:
AHf=Sublimation energy+Dissociation energy+lonization energy+Electron affinity+Lattice ener
gy
Rearranging the formula to solve for lattice energy:
Lattice energy=AHf—(Sublimation energy+Dissociation energy+lonization energy+Electron affin
ity)
Step 3: Substitute the given values
e Heat of formation (AHf = -405.8 kJ/mol
o Sublimation energy of K = 98 kJ/mol
o Dissociation energy of Br, (for 1 mole of Br) = 96.25 kJ/mol
o lonization energy of K =414 kJ/mol
o Electron affinity of Br = -334.7 kJ/mol
Now, substitute these values into the formula:
Lattice energy=—405.8 kJ/mol—(98 kJ/mol+96.25 kJ/mol+414 kJ/mol—334.7 kJ/mol)
Step 4: Calculate the lattice energy
Lattice energy=—405.8 kJ/mol—(98+96.25+414-334.7)
Lattice energy=—679.35kJ/mol
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